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Name: A&y
Period:

Significant Figures Homework
A. Determme the number of significant digits in the following numbers.

1. 2or 2ot 5600

2. e 45.00

3. ) 105.0

4 0.00565

5. H 0.005400

6. = 89.543

7. 5 atlpor / 5, 056, 300

8. (e 95.0540

9. dor . a7 93,000,000
B. Perform the indicated operations and express your answers to the correct number of significant
figures

10. (6.92)(7.9)

11. (8.245)(9.00)

12. (4.46) / (6.52)

13. 20 (9.825) / (8.20)

14. 2.0 (8.95)(9.162) / (4.25)(6.3)
C. Perform the indicated operations and express your answer to the correct number of significant
figures

15. 550 + 0.528 + 9.2

16. 420 + 8900 + 620

17. 0.00526 — 0.52

18. 820.0 + 195 + 6

19. AHLTE Y 4,285.75 — 520.1 - 386.255

20. Ba 7. (0.526)(895) + 20.8

D. Convert the following numbers into standard scientific notation with the appropriate
significant ﬁgures

21, 21.35
22. 200, 000
23, 8.750
24. 0.02
25. 121.2000
26. 0.0000090
27. 0.000823
28. 38002
29. 12.36 x 104
30. ¢ Y 532.49 x 103
E. Convert the followmg numbers from scientific notation into standard numbers.
31, 72 20¢ 7.23 x 10*
32. 8.193 x 102
33, 1.98 x 1073
34. 0 07510 x 10~
35. __la 12.56 x 103 - YOv i e, pod
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Name: (Class:

Reporting Significant Digits in Calculations

Reinforce your understanding of significant digits.

1. State the number of significant figures in each of the following values:
(@) 3570 ZorY
(b} 3.57 x 10° 3
(c) 41.400 5]
(d) 0.51 2.
& (e) 0.000 572 3
(B 0.009 00 2
(@ 4150 x 1074 4
(h) 0.007 160 x 10° 1}
: i 1.234 00 x 10° ¢,
(i) 0.000 410 0 x 107 £
2. Perform the following dperations. Express your answer using the correct
] number of significant digits.
h (@) 15.1+7532 = 90,4
” (b) 178.904 56 - 125.8055 = 52,0 9] X
(€ 4.55%x 107 -3.1x107° = [, 50”14
(d) 0.000 159 + 4.0074 ~ 14,0074,
(e) 1.805x 104 +5.89 x 10 = 7,70 ¥ (0¥
(f) 0.000 817 - 0.000 048 1 = 0,000767
(9) 8.166 X 10° = 7.819 x 10° = ), 2] ;0 &
(h) 45.128 + 8.501 87 —42.18 = 1| HY o
(i) 5.677 X 100+ 7785 x 1076 = 13,2107
0 8.75 X 102+ 6.1157 x 1079 = 1. g7 %D
(k) 1.99 + 3.1 = O.6%
(1) 1200.0 + 3.0 = 400 o TOXI0 i
(m) 5.32x 107+ 4218x 10% = 12600 of L Zo X0
(n) 45.32 x 2.3 = 100 e LOFIDT
(0) 0.024 00 + 6.000 = 0.00HOD0
(p) 12.4 X 0.30 = 3] .
(q) (5.50 x 10%) = (4 x 10°) = 1000 po (O
r7.4+3 =
(s) 4.75+5 = |
() 2.5 X 6.700 + 0.891 = 1A
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